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EXAM 03



· There are 110 possible points on this exam. The test is out of 100.

· You have one hour to complete this exam, but you should be able to complete it in less than that

· Please turn off all cell phones and other electronic equipment.

· You are allowed a calculator for the exam. This calculator cannot be capable of storing equations. This calculator cannot double as a cell phone.

· Be sure to read all instructions and questions carefully.

· Remember to show all your work.

· Recall basic logic. “Water is wet” is a true statement. “Water is wet and leopards have stripes” is a false statement.

· Please print clearly and neatly.









Part I: Multiple Choice. Choose the best answer to the following. 
4 points each.

1. In a monopoly diagram, what point does marginal cost always pass through?
a. The intercept of the demand curve
b. The inflection point of the marginal revenue curve
c. The maximum point of the ATC curve
d. B & C
e. None of the above

2. Recall this visualization of the location model:
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Which of the following is the net satisfaction of consumer x if she buys from Firm A (for simplicity, ignore all utility gained from consumption)?
a. –pA – τ|x – a|
b. –pA – τ|x – (L – b)|
c. –τ(pA –|x – a|)
d. – τ(pA + |x – (L – b)|)
e. None of the above

3. What model assumes firms set price?
a. Bertrand
b. Cournot
c. Stackelberg
d. B & C
e. None of the above

4. Suppose a monopoly has a demand curve of P = 30 – Q and a total cost curve of 10 + 0.25Q2. What is the profit maximizing output?
a. 5
b. 10
c. 12
d. 15
e. None of the above

5. Printers and printer ink is example of tying. How does this example illustrate that tying is a form of price discrimination?
a. Different people pay different amounts for the ability to print
b. The same people pay different amounts for each unit of ink they buy
c. Though everyone pays the same amount, everyone’s value of the component parts is so different; different prices occur in people’s heads.
d. A & C
e. None of the above

6. How is price matching (matching a competitor’s lower price) a form of price discrimination?
a. Because at certain times people are willing to pay more 
b. Because some goods become more valuable the more you use them so a stripped-down version is offered at a very low price
c. Only those sensitive enough to seek out a lower price will get a discount
d. A & C
e. None of the above

7. Which of the following is not an example of price discrimination? (HINT: Think of the requirements of price discrimination.)
a. Some goods cost less with coupons
b. Airline tickets are cheap if you buy them well in advance
c. A car with excellent gas mileage cost more than one with poor gas mileage
d. A & B
e. None of the above

8. What do we assume in monopolistic competition?
a. There are barriers to entry.
b. Products are heterogeneous.
c. No deadweight loss.
d. A & B
e. None of the above.

Part II: True/False. Answer true or false, and justify your answer. 
10 points each.

9. Monopolies use planned obsolescence to prevent competition with themselves, even with a robust secondary market.
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________

10. An example of planned obsolescence is when programs are built to work with the best computer, necessitating consumers to purchase better computers.
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________

11. The location model can be used to explain why firms build brand identity.
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________
___________________________________________________________

Part III: Short Answer. Answer the following. 
16 points each.

12. Consider a monopolistically competitive firm a demand curve of P = 30 – Q and a total cost curve of 4 + 0.25Q2. At what output does this firm produce zero economic profit? How much does the curve shift?













13. Under a Bertrand model of monopolistically competitive firms, find the Nash Equilibrium using the information below (report both price and quantity for each firm).

Firm 1’s Demand: Q1 = 12 – 2P1 + P2
Firm 2’s Demand: Q2 = 12 – 2P2 + P1
Firm 1’s Total Costs: TC1 = 4 + 2Q1
Firm 2’s Total Costs: TC2 = 4 + 4Q2











14. Consider a Stackelberg model with two Firms (A and B) share the following demand curve:

P = 48 – Q; Q = QA + QB

Assume the marginal cost of each firm is 12. Firm A goes first. What is the equilibrium profit for each firm? 

